A&E  FH1FESEREFBRROKERS
BRELF He2sEmEFEELBEMKEFEASR

e H21 7./29~8./2
B RBRREBW
= REWR/ kLSRG
EE K£ ¥R FF g5 d SHVE-ES & HE
BFOH [400m ARA $F |[REAR# 3 49766 R FE 48762
%*|800m Nz % HEAEE 2 [1'52"81 |k 246
1500m Xia £ EARE 3 3'55"59 |k 144 ¥:& 3'53"27
10 #F WF—3FE 3 3'58"02 |F:&
Nz % EARE 2 402”68 |FE
5000m Xia £ EARE 3 14°15778 |kl 144
110mH XA #E w2 15706 ¥ —1.0
* Bl #¥F EHEH 3 14766 R 5461 —1.7 |#R14744(+2.0) 2 = $
400mH TE Eif WEFE 3 54”63 FiE

3000mSC KA EBE EARE 3 4”63 |RBE 9fL

9'0
T 5& EARE 3 9'13"76 |F&
9'3

JLE 5hT #FP 3 9”36 |Fi#E
5000mW BE %2 EARE 3 2244”38 |F:&
4x400mR |l #A7 B 38 326”25 |F&: Q@ EIE)
He 5= BR 8
4 BZ ER 8 @
Tk AR |BR 2
EH B BR 2 @
4 W B 2 ®
EEBk N B WMF—E 3 REREL Fi&
| EEk WE CTURA|EE 3 5m00 R 34
KB HE == 3 REREL Fi&
EX & == 3 REREL T
E TR Bk FR Bz w2 7m00 FiE
* EH BX KHET 2 7m34 R 46
EETH ER Bz w2 BREREL Fi&
PR RX XET 3 13m32 ¥ +0.8
[Ehdi R BE EREFEE 3 [37m03 FiE

NoT—1% = 1918 BiREZE 3 52m04 Fi&

Py #0O #h EHAX 3 49m79 FiE
Y| /\IERHE =+ Eest Fade 3 53764 RIS 64 BREH
EE K£ ¥R FF iy d SHVE-ES & HE
ZFDE |400m sy HE&% |[#AKEFEALE 3|58"33 FiE
FH &F REHESHA 3 58”38 FiE
800m Nt B WEA=FE 2 2'13"99 |#RE & 212”34
1500m i B RE 2 4’37701 |%&
ik XF RHXR 3 430”12 |F&
3000m i B RE 2 9'38"11 |%&
ik XF RHXR 3 948”98 |F:&E
e mEmE EHHR 3 10'02"83 |%:&
3000mW H &5 N 3 14’3547 |%:&
* BF EHHR 3 13' 35704 |3k 66
E Bk FE BF Fade 1 REREL Fi&
ENEH WL BHEE  |FBirEsE 2 [kl Fi&
HE Em EARE 3 5m61 R 184 +0.6 |F& 5m77(4+0. 1)
* =ik 18 HEX= 2 6m01 R B +1.7 |FE 6m11(+2. 6)
A& RE B XHT 2 9m98 FiE
B SOF AFEFE 3 [10m06 FiE
A& T8 X$ AFEFE 2 |[36m69 R 184 ¥ 39m80
B SOF AFEFE 3 [33m09 FiE

RSk R IoF AFEFE 3 [40m09 FiE




